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307 212t0l & 61,197 65,630 N4,433
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O=sZEMEs2022E8 Y X 3,000
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OsENEsgitsag2d3 29,397
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AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
Sol: DEMATMALSIIBES (SHol: @)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
01 AIKSHMEAMNEX= 54,000 54,000 0
OJISSHALTHEN S X = - 54,000
NEAMLLDEFNSH 196,000 168,000 28,000
403 XX SHHS K20 & 196,000 168,000 28,000
01 XIS A2E X 196,000 168,000 28,000
ONSEEL+BSHSS 196,000
HEIEAHA 2,225,200 2,335,000 A 109,800
403 AIXSHME X201 N 2,225,200 2,335,000 A 109,800
01 AXESHIE2E X 2,225,200 2,335,000 A 109,800
HEIEXSH 2,225,200
OHEIRLELEX 1,915,200
OHsESEsAHMAA 310,000
SAESIIAHZZ 2,050,000 1,600,000 450,000
403 XX SHHM S X201 A 2,050,000 1,600,000 450,000
01 XS A=2E X 2,050,000 1,600,000 450,000
OsA8sIAHZES 1,750,000
OEAHXMNEUSESsE I HLUX S 300,000
A S obM &Y X & 420,000 420,000 0
403 XX SRS K20 & 420,000 420,000 0
01 XHHXE2E =X 420,000 420,000 0
Y =sotA™ &Hl X & 420,000
NEEASGFMAMASI|IBIELEFA 20,000 14,400 5,600
201 et d| 9,000 5,000 4,000
01 AP 2t 2| bl 9,000 5,000 4,000
Ogst=2H| 9,000
OsgMoltl#2ATNS LA KO 9,000
202 044 10,000 8,000 2,000
01 2L I 10,000 8,000 2,000
O ol O 22 S 3= & 04 HI 10,000
301 LBt A= 1,000 1,400 AN 400
09 SHAIAHI E A2 1,000 1,400 A400
(s3I &I =4l 1,000
SI|HOHNM S8 A X X & 100,000 100,000 0
403 XX SHHS K20 ™ 100,000 100,000 0
01 XIS A=Z2E X 100,000 100,000 0
OsJI AN S & X K& 100,000
AT EMIDANH 169,000 242,000 A 73,000
403 XX SRS K20 & 169,000 242,000 A 73,000




43 sE2URSR SN AEYsD
Ha: AEYSAYWARD
Sol: DBABMAASIIBEY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HXSHMA2E X 169,000 242,000 AT73,000
OAMSENESEMIXRA 169,000
HEB=sSLXA 37,400 40,000 A 2,600
307 glz2tol & 5,000 40,000 A 35,000
04 QIZFHALAIH B = 5,000 40,000 A 35,000
O=2U=HEIHXS 5,000
308 MXIEHMSOIH 32,400 0 32,400
01 HXNHHBHELS 32,400 0 32,400
(INHE=sHENESNE 32,400
EH TH BH 28 =4 5F X & A 400,500 300,000 100,500
403 UHXSHHSA=0l& 400,500 300,000 100,500
01 X SHMA2E X 400,500 300,000 100,500
CI B TH BH 24 =3 3 XT3 AHY 400,500
Al S AAI ZHE DAL & 15,000 15,000 0
303 Z& 3 15,000 15,000 0
01 243 15,000 15,000 0
[T AL SEAH AFA 24 DFA| & 15,000
HsMRsZ IHL2INAHS S XA 600,000 400,000 200,000
403 Mt S E X201 & 600,000 400,000 200,000
01 XXM 22 = 600,000 400,000 200,000
OHsA=a33MI2AIHSFHS X 600,000
NEEASEEIINSHE 248,000 0 248,000
= 200,000
< 48,000
403 MHXISHHE X201 & 248,000 0 248,000
= 200,000
< 48,000
01 X SHHX2E = 248,000 0 248,000
ONnsaasg83gisd 248,000
= 200,000
< 48,000
IENHZSAA 20,000 0 20,000
306 93 20,000 0 20,000
01 2= 20,000 0 20,000
O3=eNdEZssEd 20,000
Rl Y = IR & 30,000 0 30,000
308 A EHHSOIA 30,000 0 30,000
01 HIXNHHNBMNELS 30,000 0 30,000




M ox
40 5 4

SENRES FA O HEE
VI sABYAR D
DEIMFYMLASIIBEY

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

| | O<elL M=ot 2 30,000

SIHASUHFER 150,544,150 145,360,710 5,183,440
= 148,973,550
J| 780,600
< 790,000

s AF A= M 2,419,000 2,419,000 0
= 2,419,000

308 XXM SO0 A 2,419,000 2,419,000 0
= 2,419,000

01 IXNHHBNEES 2,419,000 2,419,000 0
OsdsgdXdE X =AM 2,419,000
= 2,419,000

HASESHIZNEAN 118,253,700 121,285,840 A 3,032,140
= 118,253,700

308 XX EHHSOIA 118,253,700 121,285,840 A 3,032,140
= 118,253,700

01 X HHILEES 118,253,700 121,285,840 A 3,032,140
JMAESEMAEHRZ2A 118,253,700
= 118,253,700

MASSEAXNI IS HMALS 22l bl 780,600 715,000 65,600
J| 780,600

202 O4dl 10,000 10,000 0
J| 10,000

01 = LH 4 di 10,000 10,000 0
OASSEMANZIINS MY RF=EN 10,000
J| 10,000

308 XXM SO A 770,600 705,000 65,600
J| 770,600

01 IXNSHHBMNEES 770,600 705,000 65,600
MASSEMXNT XS MALE 2tel bl 770,600
J| 770,600

TAHEdNIAFE X E M 8,600,000 8,600,000 0
= 8,000,000
< 600,000

308 XtXIEHHSOIA 8,600,000 8,600,000 0
= 8,000,000
< 600,000

01 HXNHHBHEELS 8,600,000 8,600,000 0
OxAscelNEAEX2H 8,600,000
= 8,000,000
< 600,000

AR LRSS ES DN 299,000 184,870 114,130
= 265,000
= 34,000




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
Sl SIASOHEER (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 299,000 184,870 114,130
=2 265,000
< 34,000
01 HIXNHHBHNEELES 299,000 184,870 114,130
OZ22dZI=2H 299,000
2 265,000
< 34,000
gsHAE X2 M 20,035,850 12,000, 000 8,035,850
= 20,035,850
201 Let2d] 3,000 3,000 0
= 3,000
01 At 22l 3,000 3,000 0
= gl 3,000
OesgAZIN=MI =S4 3,000
= 3,000
308 XXM SOIA 20,032,850 11,997,000 8,035,850
= 20,032,850
01 IXNHHBNEES 20,032,850 11,997,000 8,035,850
Ogsd2E=H 20,032,850
= 20,032,850
H M= Ot AL =2 & 2 THEH KT & 156,000 156,000 0
308 XtXIEHHSOIA 156,000 156,000 0
01 AXHHILEES 156,000 156,000 0
OHMB s OtAIS 2 S THHH X & 156,000
s HASSUHXNZ MG 1,048,500 1,318,000 A 269,500
FEADER A 180,000 130,000 50,000
307 21201 A 180,000 130,000 50,000
04 DIZHHALALSE E X 180,000 130,000 50,000
OZSAMLEE2 A 180,000
d=SIHASSUHXZALFE 16,000 13,000 3,000
201 £B-2dH| 9,000 4,000 5,000
01 At 2t el 9,000 4,000 5,000
WEEEES =1 5,000
Ot+=sHASESUHZENERAUS 5,000
E=3=i:] 4,000
Ot=stA2SSUHFUSAHI 4,000
202 4 Hl 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
Of=sHASSUHERSF=A0 7,000
I=ZER AN 800,000 1,070,000 A270,000




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
CHel: s HASSUHNR ALY (Sl & &)
- — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 800,000 1,070,000 A 270,000
01 X SHMA2E X 800,000 1,070,000 A 270,000
OsHeEd=2dE D4 800,000
sl FIEANSH 52,500 105,000 A 52,500
403 XSS A0l & 52,500 105,000 A 52,500
01 AXISHHA=2E = 52,500 105,000 252,500
OIS 52,500
FTACHS Dt~ 2 A T DAY 21,753,525 19,397,900 2,355,625
J| 15,189,000
= 6,564,525
DS EHAALSHEALY 14,024,000 14,814,650 A790,650
J| 9,672,000
= 4,352,000
403 MHXISHE X201 E 14,024,000 14,814,650 A790,650
J| 9,672,000
) 4,352,000
01 XXM A2E = 14,024,000 14,814,650 A790,650
OX==NZEALESUHSAS 14,024,000
J| 9,672,000
=) 4,352,000
WA MM I BEELALS 5,649,125 3,343,250 2,305,875
J| 5,255,000
< 394,125
403 UHXISHHSA=0l& 5,649,125 3,343,250 2,305,875
J| 5,255,000
< 394,125
01 X ESHHMA=LE L 5,649,125 3,343,250 2,305,875
O HMAT I BEE A 5,649,125
J| 5,255,000
< 394,125
UECES B s RN [l 1,587,500 1,210,000 377,500
403 XSS A0l & 1,587,500 1,210,000 377,500
01 AXISHHA=2E = 1,587,500 1,210,000 377,500
O3 ZH X2 782,500
OB MM EZLSEMIX R 430,000
OFTAL S Lt +=Z S35t 375,000
F2MUARSIIBI2H 50,000 30,000 20,000
307 glz2+ol & 50,000 0 50,000
02 HAFHAANGEEX 50,000 0 50,000
OX2SAMLERSIEIS 50,000
T2AMUE2 UMY 63,000 0 63,000




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
CHel: FTAUS UM B3R DALY (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
403 UHXSHHSA=0l& 63,000 0 63,000
01 X SHMA2E X 63,000 0 63,000
OXSAMEEHMSTEA 63,000
I==ZO0HCTEESE AR 379,900 0 379,900
J| 262,000
< 117,900
403 MtXISHHE X201 & 379,900 0 379,900
J| 262,000
< 117,900
01 XM A=2EE 379,900 0 379,900
O==20fICTESS =& & 379,900
J| 262,000
< 117,900
FUSHASSUXN MG 347,000 342,000 5,000
S MAAN LB YRR 312,000 312,000 0
403 XIS E X201 H 312,000 312,000 0
01 XXM A2E = 312,000 312,000 0
OStS| MAASZ YA DX A 312,000
HrE=Z2E SIS 35,000 30,000 5,000
307 21201 A 35,000 30,000 5,000
04 DIZHHALALSE E X 35,000 30,000 5,000
ORZ=22943 XA 35,000
20 IS AT BHEHTH 16,351,585 15,819,756 531,829
= 5,631,300
J| 2,979,000
< 7,741,285
ANEJUNEHXIOIESESHAIE 7,203,585 6,978,756 224,829
= 5,631,300
< 1,572,285
403 HtXSHHSA=0l& 7,203,585 6,978,756 224,829
= 5,631,300
< 1,572,285
01 HXSHMA=E X 7,203,585 6,978,756 224,829
OAd2odudxolegsEs X 7,203,585
ONME2UNUXZZALEES XA 4,097,265
= 2,825,700
< 1,271,565
OANELENSHEBEA LI ES XA 131,040
= 100,800
< 30,240
ONE2UHXNESHEHBALES XA 2,975,280
= 2,704,800
< 270,480




432 sEMNRER SN HESASYD
HE: ABPsAIMARKD
Hel: 0SB (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
AEHESLHNE 4,830,000 4,325,000 505,000
403 UHXISHHSA=0l& 4,830,000 4,325,000 505,000
01 XM= E L 4,830,000 4,325,000 505,000
OAasH=ssdXd 4,500,000
OeIEMA - I A ST 330,000
RO S HAI B HALS =X 16,000 11,000 5,000
201 Let24d] 9,000 4,000 5,000
01 At 2teltl 9,000 4,000 5,000
Opt=2Hl 5,000
ORN=oEENERAUS 5,000
[E=3=3:] 4,000
OIS MAD| B HZ Al 4,000
202 044l 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
OsdAMdSHANHNUHESF 7,000
DFHIDIHEMBHAIE X & 1,566,000 1,740,000 A 174,000
J| 1,080,000
< 486,000
403 A X EHS =0l A 1,566,000 1,740,000 A 174,000
J| 1,080,000
< 486,000
01 X SHHX2E= 1,566,000 1,740,000 A 174,000
ODFHI OIS THUHHAIZE X2 1,566,000
J| 1,080,000
< 486,000
ANEAUHSENLXA 2,375,100 2,499,800 A 124,700
J| 1,638,000
< 737,100
403 XA SA=0l& 2,375,100 2,499,800 A 124,700
J| 1,638,000
< 737,100
01 HXSHMA2E X 2,375,100 2,499,800 A 124,700
OMEJUSEHLEXH 2,375,100
J| 1,638,000
= 737,100
FlsssHssHARSAME 152,100 265,200 A 113,100
J| 117,000
< 35,100
403 MHXISHHE X201 E 152,100 265,200 A 113,100
J| 117,000
< 35,100
01 XM A=2EE 152,100 265,200 A 113,100




A2 SEURER SN AEEsAD
HE: ABPsAIMARKD
SH9l: B0 T2 4 A8 E O CERED
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Ofsts2FsSHARSXE 152,100
J| 117,000
< 35,100
ANEAUHZOHICTESS = AXR 208,800 0 208,800
J| 144,000
= 64,800
403 MtXISHHE X201 E 208,800 0 208,800
J| 144,000
< 64,800
01 AXSHMA=2EE 208,800 0 208,800
OAE20=20rCTe=SEg= ot # 208,800
J| 144,000
< 64,800
& - S8 ==sd 4,135,534 1,148,798 2,986,736
J| 2,592,000
< 1,543,534
SEFUHMHE MATA 62,500 62,500 0
307 21201 A 62,500 62,500 0
02 QAFAAFEX 62,500 62,500 0
ORES0MAtE AT 62,500
LEMAS LN A 344,874 338,298 6,576
403 MHXSHHSA=0l& 344,874 338,298 6,576
01 HIXESHMA2E X 344,874 338,298 6,576
OeFMISLEXE 300,000
O=0SsA=HXE 44,874
gL 405,000 400,000 5,000
403 A X EHHS =0l A 405,000 400,000 5,000
01 X EHHMA=E L 405,000 400,000 5,000
Clola - FBAAS A2 405,000
EEXS(QA)MAALSHHS X2 130,500 130,500 0
Jl| 90,000
< 40,500
403 Mt SHHSA=0l& 130,500 130,500 0
J| 90,000
< 40,500
01 HXSHMA=E X 130,500 130,500 0
OSEAS(LA)MMALEHEXA 130,500
J| 90,000
< 40,500
SEESXNS(HA , ASHS )MMAILSS A 696,000 217,500 478,500
J| 480,000
< 216,000
403 MtXISHH S X201 & 696,000 217,500 478,500




M ox
40 5 4

2 - 4
SA-EY B () - NEAY Ol At o ﬁ}lgﬁ HRE2

p) 780,000
= 216,000

01 XIS A=Z2E X 696,000 217,500 478,500
OJSEMNS(HA , ¢S 696,000
J| 480,000
= 216,000

MAMA . SE AL USHA 444,000 0 444 000
J| 315,000
=} 129,000

403 XX SRS K 20| & 444 000 0 444 000
J| 315,000
=} 129,000

01 MXSHHNEE X 444,000 0 444,000
Colama - QA& 444,000
J| 315,000
= 129,000

NEDUHSLHAEHZSAIY 1,298,000 0 1,298,000
J| 1,100,000
= 198,000

403 RXSH S0l & 1,298,000 0 1,298,000
J| 1,100,000
= 198,000

01 AIXISHHMA2E X 1,298,000 0 1,298,000
[(OHASZHLHEHZ2F A 1,298,000
J| 1,100,000
= 198,000

SEASA - B3| EAY 338,660 0 338,660
J| 287,000
& 51,660

403 XX SHHS K20| & 338,660 0 338,660
J| 287,000
& 51,660

01 XIS A=Z2E X 338,660 0 338,660
O0i=&s+75&4 - 230|8t 338,660
J| 287,000
== 51,660

ZQAUBASZIUREAY 416,000 0 416,000
J| 320,000
o= 96,000

403 XX SHHMS K201 A 416,000 0 416,000
J| 320,000
o= 96,000

01 IS RS2 X 416,000 0 416,000
Os2asA - 23D 416,000
J| 320,000
& 96,000
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A= SRURS= FN O HEISsS
HE: ABPsAIMARKD
S FRYDLZUULDEILEY 9 EE)
- _ — d =
SN BAGIA) - HRAY - BES e 2
< 4,500
308 XXM SO A 19,500 19,500 0
= 15,000
< 4,500
01 IXNHHBNEES 19,500 19,500 0
ODEFNEHESY (USEEHLEEY) 19,500
= 15,000
< 4,500
ZENMASHEANLS NS 90,000 180,000 290,000
403 XIS E X201 & 90,000 180,000 A 90,000
01 XM A=2EE 90,000 180,000 290,000
OJZSENMASBHEAIZS U 90,000
AHSMNESSHHI XA 90,000 100,000 A 10,000
307 21201 A 90,000 100,000 210,000
02 It S AIHE LS 90,000 100,000 A 10,000
OfAHEIEEHHA XA 90,000
SNLBHESSOANE XN 18,000 18,000 0
308 AHAIEHHSOIA 18,000 18,000 0
01 HIXNHHBMNEELS 18,000 18,000 0
OZ=SNEHESE0AHE XA 18,000
SHIS0ICHS ZCHOH DI REIH K& 135,000 90,000 45,000
403 UHtXSHHE =0l 135,000 90,000 45,000
01 *XSHMA=2EE 135,000 90,000 45,000
OZ3HI=0ICHE ZCHOH L J1 XEXH K & 135,000
HE2LIH (A=) 26,640 15,800 10,840
Jl23l 26,640 15,800 10,840
JlE2&l 26,640 15,800 10,840
201 L2l 19,640 8,800 10,840
01 At 22l 17,640 6,800 10,840
Opt=2Hl 13,000
OMeESTY 6,000
ORSE=sZAMTUERAS 4,000
OHESUALBBEN PSS 3,000
O=gl 4,640
OB =AARETZ ALY 4,640
02 =224l 2,000 2,000 0
O A& ZHl s Xl 2,000
OMBINDIRXNESS 2,000
202 Odl 7,000 7,000 0
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= o
A & 0l & AF 2 E A A
AR SENRER SN sENSD
M (MBS NS0 EIBRE
&2 DIcHEsSHEOS MY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SEHL Dt 241,156,260 226,210,068 14,946,192
= 14,536,000
Xl 206,907,000
= 19,713,260
2ICHAE =N sHEIIR RS 240,135,856 225,164,764 14,971,092
= 14,536,000
Xl 206,907,000
< 18,692,856
OlcHE sUHE0tS O 171,781,956 154,117,064 17,664,892
Xl 170,515,000
< 1,266,956
SEHOISA¥xZH 7,620,000 4,600,000 3,020,000
Xl 6,400,000
< 1,220,000
403 XIS E X201 & 7,620,000 4,600,000 3,020,000
Xl 6,400,000
< 1,220,000
01 XXM A2E = 7,620,000 4,600,000 3,020,000
O=ZHsAXZH (NS ZH|) 7,620,000
X 6,400,000
< 1,220,000
OliEgdsHECIS ML FA 39,956 24,500 15,456
201 £B-2dH| 7,700 8,100 A 400
01 At 22l 7,700 8,100 A 400
O Yet==ZH| 2,700
OLEsHHENLIRAENERAUS 2,700
O2d=¢ 5,000
OstHENEMIAAAZ ST AL YA 5,000
202 O4Hl 12,256 6,400 5,856
01 S LHOIYI 12,256 6,400 5,856
O=sZ0SSENHLHRFAA 12,256
308 X EHSOIA 20,000 10,000 10,000
10 B2 S0t B & XA 20,000 10,000 10,000
OsENgYsdlItzdu=s 20,000
EINOUSUASI(AS - MISHASEMNY) 49,409,000 46,826,000 2,583,000
Xl 49,409,000
403 MtXISHHE X201 & 49,409,000 46,826,000 2,583,000
Xl 49,409,000
01 AXISHHA=2E = 49,409,000 46,826,000 2,583,000
OFZXNMSUSI(HAD - DISHASE ML)
KNSEAZ) 49,409,000
Xl 49,409,000
EXINUSUSIFI(AS - MISHASE ML) 7,000 7,000 0




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 7,000 7,000 0
01 U401 bl 7,000 7,000 0

DREN0ISUSIIZT (A - DISHASEN

=)0 bl 7,000

sESANE L3 89,354,000 67,751,000 21,603,000
Xl 89,354,000

403 AXIEHHS 20l A 89,354,000 67,751,000 21,603,000
Xl 89,354,000

01 X EHHMA=2LE L 89,354,000 67,751,000 21,603,000
O=sEsdNEHH(XSAZ) 89,354,000
Xl 89,354,000

XN SUSI (MRS EY) 1,639,000 5,344,000 A 3,705,000
Xl 1,639,000

403 MtXISHHS =0l & 1,639,000 5,344,000 A 3,705,000
Xl 1,639,000

01 XM A2E X 1,639,000 5,344,000 A 3,705,000
OFXZXNUSUSI(AROSZE)(XANSAIZ) 1,639,000
Xl 1,639,000

Jl=MeEtolTe(MastdH|) 7,343,000 10,937,000 23,594,000
Xl 7,343,000

403 XIS S X201 & 7,343,000 10,937,000 23,594,000
Xl 7,343,000

01 X SHHA2E= 7,343,000 10,937,000 A 3,594,000
OJl=Meologt (MEsF A ) (NSAZ) 7,343,000
X 7,343,000

SEMEEAZIU(ZAIZY) 1,809,000 2,140,000 A 331,000
Xl 1,809,000

403 A X EHHS =0l A 1,809,000 2,140,000 A 331,000
Xl 1,809,000

01 X HHMA=ZLE X 1,809,000 2,140,000 A 331,000
O=sZdEs I (A ) (ISAZ) 1,809,000
Xl 1,809,000

FEEXAAY 1,201,000 1,194,000 7,000
X 1,201,000

403 UHXSHHS =0l & 1,201,000 1,194,000 7,000
X 1,201,000

01 X SHMA2E X 1,201,000 1,194,000 7,000
OFXZXNAAL(KSAZ) 1,201,000
Xl 1,201,000

A A2 5HALY 1,155,000 768,000 387,000
Xl 1,155,000

403 MtXISHHE X201 E 1,155,000 768,000 387,000
Xl 1,155,000




A SA - SAEA) - MRAY - BES 0l &t o il HImEET

01 HXSHMA2E X 1,155,000 768,000 387,000
OXNSA22AS AL (KSAIZ) 1,155,000
Xl 1,155,000

AEXNOSUHSI (XIS E20I0ICIHALL) 9,238,000 12,695,000 A 3,457,000
Xl 9,238,000

403 MtXISHHE X201 & 9,238,000 12,695,000 A 3,457,000
Xl 9,238,000

01 XM A2 X 9,238,000 12,695,000 A 3,457,000

C& X012 S 1 (X% &2 0101 T 0 AL ) (X

=A2) 9,238,000
Xl 9,238,000

NS AHSI(2E) 2,967,000 768,000 2,199,000
Xl 2,967,000

403 MtXISHH S =0l & 2,967,000 768,000 2,199,000
Xl 2,967,000

01 XM A=2EE 2,967,000 768,000 2,199,000
OFZHOSUHSI(BE)(NSAZ) 2,967,000
Xl 2,967,000

HHESEESTSS 19,268,300 19,821,600 A 553,300
= 2,230,000
Xl 15,549,000
= 1,489,300

I Z=MEQITH R ExB2AINE)(XE) 6,602,000 7,695,000 A 1,093,000
Xl 6,602,000

403 XIS S X201 & 6,602,000 7,695,000 A 1,093,000
Xl 6,602,000

01 X SHHN2E= 6,602,000 7,695,000 A 1,093,000
OJIZME T (N ESELML ) (XNSAZ) 6,602,000
Xl 6,602,000

St HHI M (XI) 2,508,500 2,508,500 0
= 2,230,000
< 278,500

403 XX EHAIS X0l & 2,508,500 2,508,500 0
2 2,230,000
< 278,500

01 X ESHHMA=LE L 2,508,500 2,508,500 0
Oste it S (X3) 2,508,500
= 2,230,000
< 278,500

JIEMEO DR (SESYMBSLNY) 2,011,000 2,014,000 A 3,000
Xl 2,011,000

403 RXISH S X =0l & 2,011,000 2,014,000 A3,000
X 2,011,000

01 X SHMA2EE 2,011,000 2,014,000 A 3,000




2.2A BB (5) - HR 0l &t o8 il HlnE2
SEEXEREEICEEEEE
A) 2,011,000
Xl 2,011,000
Jlzdgolme(Anr2&01Y) 6,936,000 6,793,000 143,000
Xl 6,936,000
403 MHXSHHSA=0l& 6,936,000 6,793,000 143,000
Xl 6,936,000
01 HXSHMA2E X 6,936,000 6,793,000 143,000
OJI=MEolZi(AR2E 4 6,936,000
Xl 6,936,000
st bl SO0 (RHA) 1,200,000 800,000 400,000
403 MtXISHHESA=0l & 1,200,000 800,000 400,000
01 X SHMA2E X 1,200,000 800,000 400,000
DSt tHHl S =00 L (XHAl) 1,200,000
OQHEESEEFHEFA 10,800 11,100 A 300
201 Let2d] 1,300 1,600 A 300
01 At 22l 1,300 1,600 A 300
[Jget=2H| 1,300
OsZ8sliggRAERE = 1,300
202 oddl 9,500 9,500 0
01 = LH o4 bl 9,500 9,500 0
sEEI2ERFA0 9,500
JIASE =s0IerE = 28,090,900 32,760,300 A 4,669,400
= 12,306,000
Xl 15,003,000
< 781,900
th==A3XHel 1,875,000 1,077,000 798,000
Xl 1,744,000
< 131,000
403 XSS X201 & 1,875,000 1,077,000 798,000
Xl 1,744,000
< 131,000
01 X SHMA2E X 1,875,000 1,077,000 798,000
OW+&E2XEel(XNSZHl) 1,875,000
Xl 1,744,000
< 131,000
JIZMEI(I|HSERZE L) 3,801,000 4,974,000 21,173,000
Xl 3,801,000
403 MHXISHHSA=0l& 3,801,000 4,974,000 A 1,173,000
Xl 3,801,000
01 HXSHMA=E X 3,801,000 4,974,000 A 1,173,000
OJ=MEol It (I HEEZ
) 3,801,000




4T SEHURER SN EENLD
EE B E S I ESIFIEE
&2 DA G sOIEt = E (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
| Al 3,801,000
IIHSEEZSH I (T AEH) 304,000 746,000 A 442,000
X 304,000
403 UHXISHHSA=0l& 304,000 746,000 A 442,000
X 304,000
01 HXESHHMA=E X 304,000 746,000 A 442,000
OJIHSH B2 (A2 )(XSAZ2) 304,000
Xl 304,000
EPRSIESEs] 9,088,000 8,362,000 726,000
Xl 8,454,000
< 634,000
403 MtXISHH S =01 & 9,088,000 8,362,000 726,000
Xl 8,454,000
< 634,000
01 XM AZ2EE 9,088,000 8,362,000 726,000
Oglerddl (XIS =) 9,088,000
Xl 8,454,000
< 634,000
Bi==JH& (2 E) 7,306,000 12,584,000 25,278,000
= 7,306,000
403 XIS E X201 & 7,306,000 12,584,000 25,278,000
= 7,306,000
02 SO 2SO HSHAHE X HE At H 7,306,000 12,584,000 25,278,000
ObH==HE(RE) 7,306,000
= 7,306,000
B = JH & (KT &) 5,000,000 5,000,000 0
= 5,000,000
403 UHXSHHSA=0l& 5,000,000 5,000,000 0
= 5,000,000
01 HXHHMA=LE X 5,000,000 5,000,000 0
b= d (RI&) 5,000,000
= 5,000,000
A 2o 700,000 0 700,000
Xl 700,000
403 MtXSHHE A0l E 700,000 0 700,000
Xl 700,000
01 XM A=2EE 700,000 0 700,000
Oa272 =& (XIS=HI) 700,000
Xl 700,000
JIAStE sO|greE s =2l 16,900 17,300 A 400
201 Let2d] 1,400 1,600 A 200
01 At 22l 1,400 1,600 A 200
Ogpt=2tl 1,400




A= SFMRER A sESoHg
M 2ICHENE=ENsHED|EIR S
= EPIPEE P (e9: & 9)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OsgIIet xR AHE N2 RS 1,400
202 04d| 9,500 9,500 0
01 2L HI 9,500 9,500 0
Ol X220 | 9,500
203 R F & 4,800 5,000 A 200
03 AlZH =& 2= X H| 4,800 5,000 A 200
OsENeg2Fa 4,800
303 Z& 2 1,200 1,200 0
01 A2 1,200 1,200 0
OsElgYLI)BXEANLFTIR2EL22AAIL 1,200
THOHl CHEl =2l Al &2 & | 20,994,700 18,465,800 2,528,900
N 5,840,000
== 15,154,700
ANZE=ClAEIE 5= 5,840,000 5,360,000 480,000
N 5,840,000
403 XX SHHS K20 & 5,840,000 5,360,000 480,000
N 5,840,000
01 MXHHNE2BE = 5,840,000 5,360,000 480,000
OANZECIAENES(NESH|) 5,840,000
Xl 5,840,000
Mo =S 42l A& HY| 6,000,000 6,000,000 0
403 XX SHHMS K201 & 6,000,000 6,000,000 0
01 XS A2E X 6,000,000 6,000,000 0
OXHGHM & == 42| Al & A H| 6,000,000
2 LT A H| 300,000 274,000 26,000
403 XX SHS K201 & 300,000 274,000 26,000
01 AIXISHHMA2E X 300,000 274,000 26,000
O2FL AL HH| 300,000
F0=2AcHMAAl A D BHA Y| 4,164,000 200,000 3,964,000
403 XX SHHS K20l A 4,164,000 200,000 3,964,000
01 XIS A=Z2E X 4,164,000 200,000 3,964,000
(F0 =) s MAAIED|BHEH| 4,164,000
CEAE M= XEH 3,500,000 3,500,000 0
403 XX SHHS K 20| & 3,500,000 3,500,000 0
01 MXSHHXE2E =X 3,500,000 3,500,000 0
O M=X 3| 3,500,000
M= XM E & 290,000 275,000 15,000
403 XX SHHM S X201 A 290,000 275,000 15,000
01 XS A=2E X 290,000 275,000 15,000




AR 5ENRSE SN sENED
EE B E S I ESIFIEE
©2l: Mol Hel =2l AlE J Yl (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OX=XIMEEH 290,000
H=Xis=A=SZEXELX 216,000 216,000 0
403 MtXSHHE X0l E 216,000 216,000 0
01 XM A=2EE 216,000 216,000 0
OM=XANsS=/A=SEENEX 216,000
M=K LetM Al C 672,000 0 672,000
403 MHXISHE X201 H 672,000 0 672,000
01 X SHHXN2E= 672,000 0 672,000
OM=+=X&EY ™A CH 672,000
Mol CHEl =2l A2 ZHI=& 12,700 11,800 900
201 Let249] 3,700 2,800 900
01 At 224l 3,700 2,800 900
O et=ZH| 700
OMolltibl=cIA € EHIHE N E RS 700
E=3=3:] 3,000
OMoitibl bl & 22X Al 3,000
202 04l 9,000 9,000 0
01 S LHOIYI 9,000 9,000 0
COMHoitidl =cl A& EHIFRFE I 9,000
HE2LA I (sEHL D) 52,404 49,304 3,100
el 2l 29,283 26,714 2,569
ol 2l 29,283 26,714 2,569
101 @124l 29,283 26,714 2,569
03 I AHAZZ2HE > 29,283 26,714 2,569
O=23" a2t 29,283
oJle= 1,392,760 x1H x12& 16,714
Oz 1,392, 7603 »1H x400% 5,572
Ogxt==g 1,392,760& /209%8+19 1,013
OozZ2s+% 72,0003 x 18 +128 864
OunsE x| 60,000& x1H « 122 720
OFE =S tHl 700,000& 1 +23| 1,400
OF M Z Al 130,000& x1H «12& 1,560
OE=g(H*X) 40,0003 x 18 +128 480
OX&E=Y(JIEIE) 20,0003 »4H 128 960
Jl= &l 23,121 22,590 531
JlE&l 23,121 22,590 531
201 £B-2dH| 17,121 16,590 531
01 At 22l 17,121 16,590 531
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N = 0l & At & Ml A

s54RS3 SN ENASD
AU ALY
A=Y ESANY (S &2)
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
=gy 81,872,901 85,219,983 A 3,347,082
= 29,530,060
J| 24,485,400
= 27,857,441
LAY 80,576,251 83,960,083 A 3,383,832
= 29,390,060
J| 24,485,400
< 26,700,791
SERHEFIALY 5,075,420 5,234,600 A 159,180
ZASILEHER R 1,478,000 899,000 579,000
307 21201 A 938,000 50,000 888,000
02 HAFAAFEX 938,000 50,000 888,000
OZdstEd =2 dst 188,000
OstRISS=ctEd=XE 750,000
308 XXM SOl A 90,000 540,000 A 450,000
01 AXHHBILEES 90,000 540,000 A 450,000
OZHME 2 Z4(0NA) KT 90,000
403 A X EH S =0l A 450,000 295,200 154,800
01 X SHHMA=E L 450,000 295,200 154,800
OF&MsIHES BN EH XA 450,000
S OFXI 2 AHOHE AHY 180,000 180,000 0
308 X EHSOIA 180,000 180,000 0
01 HIXNHHNBHEES 180,000 180,000 0
IS O0EX 4 AHRHA ALY 180,000
St ALY 704,000 634,500 69,500
308 XXM SO0 A 704,000 634,500 69,500
01 IXNHHBNEES 704,000 634,500 69,500
Ot AsdAIAMY 519,000
et 0l ALY 185,000
S&SIHII R K& 1,488,700 1,276,200 212,500
403 X SHHSA=0l& 1,488,700 1,276,200 212,500
01 X SHMA2E X 1,488,700 1,276,200 212,500
OF&sHIIXMXA 1,488,700
SHEMHELEES 564,220 1,366,900 A 802,680
201 L4l 58,320 56,400 1,920
01 At 22l 53,320 51,400 1,920
pt=2Hl 20,000
OFUMAMSIHELAZSUSIHERUS 20,000
O=2d=¢ 5,000
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800,000
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800,000
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28,000
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50,000
50,000
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14,541,330
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5,000
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sEaM9ER SN EANEAD
S QY ALY
AS AR (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
Pl 8,291,000
& 4,857,340
ZAISMAD|BHE = 11,826,000 12,751,230 N 925,230
J| 8,291,000
&< 3,535,000
403 XX SHHS K20 & 11,826,000 12,751,230 N 925,230
J| 8,291,000
== 3,535,000
01 AIXISHHMAEZ2E X 11,826,000 12,751,230 N 925,230
[OXAISMAD|BHEFZ ALY 11,826,000
J| 8,291,000
o=} 3,535,000
TAIS M A& AL 1,322,340 1,710, 100 A 387,760
307 QI2t0| ™ 53,500 40,000 13,500
02 Q2B AMAIE E =X 53,500 40,000 13,500
OFASHAIs=ES 53,500
308 XX SHHSOIH 191,000 375,000 A 184,000
01 AIXSHMEMNEX= 191,000 375,000 A 184,000
OXANSIELI=EH 170,000
O=X0lEJ| XX & 9,000
O0IAEDIISH X 12,000
403 XX SHHS K20 & 1,077,840 1,295, 100 A 217,260
01 XIS A2 X 1,077,840 1,295, 100 A 217,260
OZAIS M AEH| X & 957,600
OAFZH &I X & 30,240
COTMRIIZ A E S T 3t 90,000
EMER S22 8,299,527 8,060,857 238,670
= 38,400
J| 5,161,137
& 3,099,990
CEHANKF2IEAA 1,248,000 1,059,000 189,000
J| 748,800
& 499,200
307 2iz2tol A 1,248,000 1,059,000 189,000
J| 748,800
&< 499,200
02 QIZ2IA AAIE E X 1,248,000 1,059,000 189,000
[JESZAHS2IRNS 1,248,000
Jl 748,800
& 499,200
EAMSO0IEA 1,342,829 1,342,829 0
J| 1,029,887
=} 312,942




4R zHNRsS2 SN EMZSD
Hu: SMYUHAY
o9 BMERS B (29l 8)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 gﬁ‘&i HR=2
307 2Iz2to| & 11,357 11,357 0
J| 5,678
& 5,679
02 QI AAIE E X 11,357 11,357 0
O=AS 012 Xl (DNAZ ARHL) 11,357
J| 5,678
=} 5,679
308 MXISHHMSOIA 1,331,472 1,331,472 0
J| 1,024,209
& 307,263
01 AXHHIMNEXS 1,331,472 1,331,472 0
OFASO0IZ M (HEH=H]) 1,331,472
J| 1,024,209
& 307,263
E=ASHACCPAH A El (S &) AHY 258,720 176,400 82,320
J| 211,200
o= 47,520
308 XXl €I S 0 & 258,720 176,400 82,320
J| 211,200
o= 47,520
01 AIXSHMENEXZ 258,720 176,400 82,320
(= MSHACCPAEE (s &) ALY 258,720
J| 211,200
= 47,520
FSMNERESE 4T 763,050 433,140 329,910
308 XHXIGH SO0l & 141,750 141,750 0
01 AIKSHHEMNEXZ 141,750 141,750 0
OADI0EHERAE X 141,750
403 XX SRS K20| & 621,300 291,390 329,910
01 RRIEHH b2 2 & 621,300 291,390 329,910
Ot sSTHMHEXNS 112,500
OFZMNESLESAHE LM DAME 205,800
Os¢dEssSsSHEA 30,000
OJIEANEEXZ0HAIE X 273,000
SHASAZHD 153,500 119,500 34,000
202 o4 | 30,000 30,000 0
01 2Ll 30,000 30,000 0
O HAR2 =X 0| 30,000
307 QI2t0| ™ 47,500 37,500 10,000
02 QI2tAAMAIE E =X 17,500 17,500 0
OJZAEHE LT XM XA 17,500
04 SIZ2ISHAAIH E & 30,000 20,000 10,000




A2 sEA4RER Y e
Hu: SMYUHAY
o9 BMERS B (25 & @)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
BEREPERENEES 30,000
308 XXM SOIA 52,000 52,000 0
01 IXNSHHBANEES 52,000 52,000 0
OSMSEHEMET I M XA 8,000
OFSASAHISTHALKA 44,000
402 RIZEX20l A 24,000 0 24,000
01 St At B X 24,000 0 24,000
JZ9SBdHENSEZEHIIANA 24,000
sk 680,888 626,688 54,200
308 XXIEHHSOIA 193,088 237,888 A 44,800
01 AXHHILEES 193,088 237,888 A 44 800
RARHE NS ALY 117,000
OY=8HU(SR0)X A 76,088
403 MHtXISHHE X201 & 487,800 388,800 99,000
01 XM A=2EE 487,800 388,800 99,000
OYsII AT 487,800
stunesa AN 3,805,500 3,779,700 25,800
| 3,171,250
< 634,250
308 XX EHHSOIA 3,805,500 3,779,700 25,800
| 3,171,250
< 634,250
01 AXSGHBLELS 3,805,500 3,779,700 25,800
OstnesrsaXd 3,805,500
| 3,171,250
< 634,250
ELSHACCPA S E (JIB &) ALY 47,040 19,600 27,440
= 38,400
< 8,640
308 XXM S0 A 47,040 19,600 27,440
= 38,400
< 8,640
01 AXSHHBLEES 47,040 19,600 27,440
OIS A SHACCPHAEE (It & )AL 47,040
= 38,400
< 8,640
IrEE S A 40,481,249 37,891,580 2,589,669
= 29,351,660
| 2,500,263
< 8,629,326
HEASEMLARY(OIFLA) 626,288 626,288 0
= 313,144
= 313,144




4= s54RS3 SN ENASD
Hu: SMYUHAY
Sl ISP ALY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

206 M= Hl 626,288 626,288 0
= 313,144
< 313,144

01 M= 4l 626,288 626,288 0
SErdsdoya 626,288
= 313,144
< 313,144

IIEYAAEYH (HFHA) 7,804,813 7,804,813 0
= 6,636,039
=) 1,168,774

308 XXM SO A 7,804,813 7,804,813 0
= 6,636,039
=) 1,168,774

01 AXHHBILEES 7,804,813 7,804,813 0
OotsgdasZ2 el 7,804,813
= 6,636,039
< 1,168,774

AE2MAHMESZH (OtFLA) 957,653 957,653 0
= 563,325
< 394,328

308 MtXIEHMSOIH 957,653 957,653 0
= 563,325
< 394,328

01 HXNHHNBHEELS 957,653 957,653 0
OABZHActEME 2 957,653
= 563,325
< 394,328

IISYAEUXNA(OISYA) 136,500 71,500 65,000
= 105,000
< 31,500

403 X SHHSA=0l& 136,500 71,500 65,000
= 105,000
< 31,500

01 X SHMA=2E X 136,500 71,500 65,000
OYA - XA 136,500
= 105,000
< 31,500

EAMYA S NA OISR Y IR ) 1,639,500 1,289,000 350,500
J| 983,700
< 655,800

307 21201 A 1,639,500 1,289,000 350,500
J| 983,700
< 655,800

02 YAFAAFEX 1,639,500 1,289,000 350,500
Oyl 1,639,500




A SEURER SN EA4EYD
Hu: SMYUHAY
Sl ISP ALY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
Pl 983,700
& 655,800
HRNADHEEX X2 AS 97,500 136,500 A 39,000
= 75,000
= 22,500
308 XAHXIEHSOIA 97,500 136,500 A 39,000
= 75,000
= 22,500
01 AIXSHMEMNEX= 97,500 136,500 A 39,000
OHXNAZHEESXTALS 97,500
= 75,000
=} 22,500
HBI2ASOYLSA(IIZEHI2E M) 1,971,528 1,971,528 0
J| 1,516,563
& 454 965
308 XHXIGH SO0l & 1,971,528 1,971,528 0
J| 1,516,563
& 454 965
01 IXHHNIMNEXS 1,971,528 1,971,528 0
OSN3 1,012,565
J| 778,900
o= 233,665
OASAHESAEH 958,963
J| 737,663
= 221,300
MAYHEBEMNZXE 21,375,000 21,375,000 0
= 19,000,000
= 2,375,000
308 XX EHH SO0l & 21,375,000 21,375,000 0
= 19,000,000
= 2,375,000
01 AIKISHHEMNEXZ 21,375,000 21,375,000 0
[BESpSESl=PNE= PR 21,375,000
= 19,000,000
o=t 2,375,000
PSS EE AL 2,415,569 2,150,970 264,599
201 et 5,000 0 5,000
01 AP 2t 2] H| 5,000 0 5,000
Oosgx¢ 5,000
OISz 2 LS 5,000
206 M = dl 100,000 100,000 0
01 X2 Hl 100,000 100,000 0
[REAR=g=181:] 100,000
308 XX SHHSOIH 2,060,369 1,836,770 223,599




SEURER M SNFYD
AU ALY
LI AY (Sl & &)
CRA I BRAEH) - NRAY - BES 0l &t o il HREZ
01 HIXNHHNBHNEES 2,060,369 1,836,770 223,599
OFMESEIAY 264,000
OJ=Z2Eu X 921,840
Oot=2 S AHI X & 447,000
Ozx=2d+==gX& 228,960
OWMAMAEY A2 X 102,069
otsstesa2sHAE 82,500
OFRG/AIDtaSAESR 14,000
403 AXEHHS =0l A 250,200 214,200 36,000
01 AXISHHA=2E = 250,200 214,200 36,000
OASAEXEA 250,200
SUNSESEH 353,668 353, 0
= 272,052
=) 81,616
308 MtXIEHMSOIH 353,668 353, 0
= 272,052
= 81,616
01 HXHBAEES 353,668 353, 0
OFMXNES=EN 353,668
=2 272,052
=) 81,616
Ol AL E S Al =4I 1,950,000 780, 1,170,000
= 1,500,000
< 450,000
308 MtXIEHMSOIH 1,950,000 780, 1,170,000
= 1,500,000
< 450,000
01 XM EES 1,950,000 780, 1,170,000
OogssdESAl=HI 1,950,000
= 1,500,000
=) 450,000
lSsJt2g el k& 195,000 58, 136,500
= 150,000
=) 45,000
308 XXM SOIA 195,000 58, 136,500
= 150,000
=) 45,000
01 AXHHBLEES 195,000 58, 136,500
OotssotEgael X 195,000
= 150,000
< 45,000
HENHASAIE 948,480 316 632,320
729,600

A

218,880




4= s54RS3 SN ENASD
HI: ENSUTAY
Sl ISP ALY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
403 XX SHHS K20 & 948,480 316, 160 632,320
= 729,600
& 218,880
01 AIXISHHMA2E X 948,480 316, 160 632,320
OAHEBHEASAA 948,480
= 729,600
=} 218,880
IIEeAEIIMNEZEAY A& 9,750 0 9,750
= 7,500
& 2,250
308 XHXIGHH SO0l & 9,750 0 9,750
= 7,500
& 2,250
01 IXHHNIMNEXS 9,750 0 9,750
OJIsYSEIaZsEd A& 9,750
= 7,500
o= 2,250
S ALY RO 6,878,000 14,293,000 NT,415,000
J| 5,027,000
o= 1,851,000
A=K AS 489,800 256,000 233,800
308 MXISHMSOIA 445,000 256,000 189,000
01 IXHHIMNEEXTZ 445,000 256,000 189,000
(=22 WHAAS 400,000
OsAIED| Ot E A X & 45,000
403 XX SHHS K20 & 44,800 0 44,800
01 XIS A 2E X 44,800 0 44,800
CO=ASHHH S A AE XS 44,800
SEH X AHS 361,800 286,200 75,600
308 XX SHHSOIH 361,800 286,200 75,600
01 AIXSHMENEXZ 361,800 286,200 75,600
[J2H A 25 361,800
AS K& A 841,600 414,000 427,600
308 AHXIEHMSOIA 841,600 414,000 427,600
01 AIXSHMENMNEX= 841,600 414,000 427,600
OLX=SI| XA 741,600
ONZ2AS0IoLa ALK& 100,000
EAMNAESEUHIAIS 2,911,000 7,173,000 N4 ,262,000
J| 2,911,000
403 AIXSHME X201 N 2,911,000 7,173,000 N4 ,262,000
J| 2,911,000




42 sENRER M SNFYD
HE: ENAUTAY
SRl BAEBpY CERED
.24 B GH(3AH) - KR - BES of 4 o4 il HI RS2

01 HXSHH =R 2,911,000 7,173,000 A4,262,000
O=AMAESUHEAS 2,911,000
Jl 2,911,000

EZSESSE=S 163,800 163,800 0
Jl 126,000
= 37,800

308 XXM SO0l & 163,800 163,800 0
Il 126,000
= 37,800

01 UAXESHHBAEXS 163,800 163,800 0
DESESSESAME 163,800
Il 126,000
S 37,800

FTALIHE M A == 100,000 3,100,000 23,000,000
Jl 100,000

308 Xt &M S 01 H 100,000 3,100,000 23,000,000
Jl 100,000

01 HXAHHMZBEES 100,000 3,100,000 23,000,000
Ouot2ds== 100,000
Jl 100,000

FTAHI S X1 & =2 1,000,000 2,900,000 21,900,000
Il 1,000,000

308 XXM SO0IH 1,000,000 2,900,000 21,900,000
Il 1,000,000

01 XM BaE2ES 1,000,000 2,900,000 21,900,000
OHgxas 1,000,000
Jl 1,000,000

LYSOHNYLLH SAIEAE 520,000 0 520,000
Jl 400,000
= 120,000

403 TtXI M S =01 A 520,000 0 520,000
Il 400,000
= 120,000

01 TtXIEHH X2 2 & 520,000 0 520,000
ORPESOHNAMSHSAIER S 520,000
Il 400,000
S 120,000

SUZ20HCTESSE = 490,000 0 490,000
2l 490,000

403 "X S H S0l & 490,000 0 490,000
| 490,000

01 XA =2 = 490,000 0 490,000
OF4A20FICTES =St 490,000
Jl 490,000




4= s54RS3 SN ENASD
HE: ENSUTAY
Sl AHABANT (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

TEASAMIA 4,213,675 3,581,736 631,939
J| 1,944,000
& 2,269,675

EMEEXHEAA 2,623,000 2,570,436 52,564
Jl 1,944,000
= 679,000

403 XX SHS K201 & 2,623,000 2,570,436 52,564
Jl 1,944,000
= 679,000

01 XIS A2E X 2,623,000 2,570,436 52,564
OJI 22X XA 2,623,000
J| 1,944,000
& 679,000

SSHAZAXNS AL 1,590,675 1,011,300 579,375

308 XHXIGH SO0l & 1,167,675 768,300 399,375

01 AIKISHHEMNEXZ 1,167,675 768,300 399,375
JHALZISAIZEIIM XK 598,500
OxEtAols2 MM K& 100,800
OXSASMEZSOSHI X 73,500
Ot M2 M A& 90,000
OKRJIsSSE2EsHEHIH 58,500
=2 e2s M3l XA 246,375

403 XX SHS K20 & 423,000 243,000 180,000

01 XS A=2E X 423,000 243,000 180,000
ODSE MY MAANAEXH 423,000

O AEXRA 2,480,040 356,980 2,123,060
J| 1,562,000
o=t 918,040

YA H LA 377,500 266,500 111,000

201 Yot | 10,000 10,000 0

01 AP 22| H| 10,000 10,000 0
Oeds¢ 10,000
O H3osSEARE 10,000

308 AHXIEHSOIA 241,500 94,500 147,000

01 AIXSHMEMNEX= 241,500 94,500 147,000
M AT & 94,500
OZe 0|2 & 23 M A TH Bl 45,000
Oo2ts0taEsE s X 102,000

403 XX SHHS K20 & 126,000 162,000 A 36,000

01 XIS A2 X 126,000 162,000 A 36,000
OHAI2UdE S ALY 126,000




M ox
40 5 4

0

SN - =B (3IH) - M

3]

Off &t 24

=

i
2m

Jl

n

1,504,540

1,102,000
402,540

90,480

308 XM S0H

Jl

H

1,463,000
1,070,000
393,000

1,463,000

01 REXIEHHI

Ostds0td e

0y

EEE!

Il

1,463,000
1,463,000

1,070,000
393,000

1,463,000

403 A X EHS =0l A

Jl

H

41,540
32,000
9,540

90,480

N48,940

01 HXSHH =L E
O&S0HEL) 7Y

Jl

H

41,540

41,540

32,000
9,540

90,480

N48,940

hn X

598,000

460,000
138,000

598,000

403 MR SHHMS K20l H

y

H

598,000

460,000
138,000

598,000

bl
o
é
|
rt
HT
FA

O
ng
rx
9
i)
0x
b
o

X

598,000
598,000

460,000
138,000

598,000

o

182,000

140,000
42,000

140,400

41,600

oy

182,000

140,000
42,000

140,400

41,600

=S X E A

o

182,000

140,000
42,000

140,400

41,600

308 XM S0IH

oW

182,000

140,000
42,000

140,400

41,600

01 XM EES
=
=2

CIOr=0H

[Ab= 2tel I X &

H A

182,000

182,000

140,000
42,000

140,400

41,600

02

64,650

69,500

A4,850

64,650

69,500

N 4,850




AR SSURE = o
HE: HYRIFU (BTG
¢l =gl (chel & 9l)
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t

Jl23Hl 64,650 69,500 A 4,850

201 £B-2d| 18,650 23,500 A 4,850

01 At 22l 18,650 23,500 A 4,850
Ogpt=2tl 18,650
OMEEESTY 16,650
ORI =SXRELSANEES 2,000

202 O4dl 46,000 46,000 0

01 = LH o4 4l 46,000 46,000 0
OJ12g2F20l 46,000

NRes (S22 Z) 1,050,000 1,050,000 0

HEHHK = 1,050,000 1,050,000 0

ZOISJ3AAL R0 1,050,000 1,050,000 0

705 Ol cl 34 1,050,000 1,050,000 0

04 Al - S X SIHLDI S0 =30 A& 1,050,000 1,050,000 0
D0t EX LB (" 12XSHEI3) 1,050,000
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Hl w

18,096

13,504
13,504
13,504

9,838
7,838
7,838

H3r
Wikd
RIS

299,800
32,000

32,000

21,000

21,000
207,850
128,850
128,850

79,000
79,000

36,460
29,260
21,260

Off &t 24

i

317,896
317,896
317,896
317,896
32,000
32,000
32,000

16,000
16,000
16,000
16,000
16,000
16,000
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21,000
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A= SRURS= PN sgNE 2R
M NASHEASILNY
el DAL NYULES (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
02 =224l 8,000 8,000 0
A& ZHl s Xl 8,000
ONMESEMRBIIIFXNES 2,500
OsJIAHL &2l 5,500
202 044l 9,200 7,200 2,000
01 = LH o4 1l 9,200 7,200 2,000
O30l 9,200
SR RF(EX) 2,700,000 0 2,700,000
J| 1,350,000
< 1,350,000
401 AIEHI L 20 2,520,000 0 2,520,000
J| 1,260,000
< 1,260,000
01 A& Bl 2,486,000 0 2,486,000
OZJ2EAANHL 1,183,000
J| 591,500
< 591,500
OOA0S=da0Ig = 1,303,000
J| 651,500
< 651,500
02 Zeltl 24,000 0 24,000
OTJ22EAANHL 12,000
J| 6,000
< 6,000
OOA0S=de0Ie = 12,000
J| 6,000
< 6,000
03 Al 2 0HHI 10,000 0 10,000
OTJ22EAAHL 5,000
J| 2,500
< 2,500
OOA0S=da0e = 5,000
J| 2,500
< 2,500
405 Xt&tE SHI 180,000 0 180,000
J| 90,000
< 90,000
01 AL ESFH SHI 180,000 0 180,000
ODF0IS= AR =S EH 180,000
J| 90,000
< 90,000
HHSAAH (sYNAB2) 1,531,003 1,656,577 A125,574
eI 2l 1,319,341 1,483,687 A 164,346
oI 2| 1,319,341 1,483,687 A 164,346




4T SEHURER SN SRR
R F2gdZtl(sgnazeld)
Sl ol ) CERED
F-RA-BH-SAEN) - HRAY - BAS of 4 o4 il HI RS2
101 @l H] 1,288,801 1,444,147 A 155,346
01 2=+ 900,731 1,107,719 A 206,988
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eI =gl 1,144,396 1,039,209 105,187
Q124 | 1,112,116 1,010,349 101,767
2 958,466 856,483 101,983
oJl=s 734,633
O==H 663,279
-6=(2188) 3,355,700 x4 123 161,074
-71321s8) 2,716,0002 x9H 128 293,328
-eRR(2B58) 5,028,700 x2H x12& 120,689
- HFRAHB0EE) 3,674,500 x2F «12& 88,188
Ood=2=+¥¢ 663,279,000& *1/12x50%*23] 55,274
O&d=2=gltt= 16,080
- 258014 130,000 ~3& «12& 4,680
- 20801 &f~25E 012 110,000 «3H »12& 3,960
- 15801 & ~20= 0] 2t 80,0002 x3H 123 2,880
- 108 0l &t ~15= 0] 2t 60,0002 x3H 123 2,160
- 501 &~104 012+ 50,0003 »4H « 12 2,400
O=¢ 100,879
Odol+¢ 4,748
-lesfREsE 4,748
58Ut (2353)
3,403,800 #4. 1%x1H 12 1,675
a2t (1623
2,657,400 +4 . 1%x1H 128 1,308
AR 2UHR(R2ES)
3,586,400 +4. 1%x1H x12& 1,765
OJIAHEESZ 11,064
-tEsE 8,640
- B < Xt 40,000 x 128 »12& 5,760
JIEHIHE 20,0002 x12H 12 2,880
- Ut 2RSS 2,424
S 303,000& 2 *4 3] 2,424
OS=+2%2=+¢ 21,840
-fE2fsd 9,120
243 50,000& x 122« 12& 7,200
£3 40,0002 x4 12 1,920
-Sxgesd 12,720
o XNERH 70,000 x10H 128 8,400
Axsed 80,0003 »4H x12E 3,840
e84 20,0002 x 12~ 12& 240
Has(2H) 20,0003 x1H 12 240
Ozl=2*2+€S 63,227
At ZRSY 63,227




2. RA - EH B (S) - HEAY - B il 2
FH= 10,331 & x10Al 2t 17H x 122 21,076
Z= 10,3313 *20Al 2tx17H 128 42,151
O3 Mg Al 130,000 *17H »12& 26,520
O E F0tdl 663,279,000% *1/12x120% 66,328
2 &b
663,279,000 »1/12%86%*1/30% 19 30,106
02 JIEt A 2+ 47,666 47,016 650
O3S A=A 47,666
OAlzte 224 9,866
-dU= 6,851& *10AI 2t+4H » 12 3,289
-ZUE 6,851 & *20Al 2t+4H x 128 6,577
Ogsasddd=s 600,000& *»4H 128 28,800
O=U0otl 150,000 4 H «12& 7,200
Ol =t 1,200
Ou =H| 300,000 x2H x13] 600
03 RIAHAZ 2 RHE > 105,984 106,850 A 866
OJEA2C|LINSLIELR 105,984
OPIE-== 1,392,760& x3H x12& 50,140
Od0= 1,392, 760& *400%*3H 16,714
Osgaesw
1,392,760 /209%1.5%480 Al 2+ 4,799
Ogxt==< 1,392, 760% /209%8*20 *3 3,199
OozZ2s+% 182 +9,000& x12& 1,944
OnExY 2,400
- i< Xt 40,0003 x3H 128 1,440
- JIEHOHE 20,0003 x»4H 128 960
o1 =l 1,200
(@FNE=3-EN . 60,0003 x3H 123 2,160
OZFEFOtHI 700,000 x3Y x23| 4,200
O Mg A 130,000& 3 128 4,680
OAN 2R
1,392,760 /209 1.5%x15A1 2tx3H x12& 5,398
O=U0odl 30,000& »135 4,050
OS5t Atz 2 5,100
204 MR F | 32,280 28,860 3,420
02 252 Xl 32,280 28,860 3,420
5= 250,000 x2H 128 6,000
62, H At 155,000& 6 128 11,160
ars 140,000& x9H 123 15,120
=3l 172,249 164,669 7,580
Jl23Hl 172,249 164,669 7,580
201 £B-2dH| 104,859 87,279 17,580
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LS LA o &)
SH-EB .S (3H) - MEAY - BAS 0 AF o ﬁlf& HD=2
O2ZH(1th) 5,000
CIHHEDI(2CH) 10,000
Oasth(2td) 8,000
OYWaHS D (1) 3,000
Jpc(2tt) 2,500
OZ2e ) 1,500
OX=SQ=DI(10H) 2,500
HAIRY 70,000 40,000 30,000
AANRANELL2R22FNA 70,000 40,000 30,000
401 Al Bl 2 0HHI 70,000 40,000 30,000
01 Al&H| 70,000 40,000 30,000
OFMISLEADHS 70,000
HEHSHAALH (IIESAMAIE A AEXA) 1,443,476 1,307,376 136, 100
29| 1,292,176 1,138,272 153,904
A2l 1,292,176 1,138,272 153,904
101 2121 d| 1,259,176 1,106,952 152,224
01 2= 1,003,473 868,968 134,505
OoJiss 705,970
Oz sAH 636,600
- R (2B/EE) 5,242 ,600& x 1 x12& 62,912
-3 (182 2) 3,194,600& x7H x12& 268,347
-72(1282) 2,513,700& x9Y 12& 271,480
-HIRAN (143 8) 2,821, 700& x1H x12& 33,861
(OF =, 636,600,000 *1/12%50%*23] 53,050
O&dIZEItat 3 16,320
- 253 0| & 130,000& x4 x12& 6,240
- 2049 0l Ab25E 0] Bt 110,000 x 1H «12& 1,320
- 15 0l &t204 0] 2¢ 80,000 *3H x12& 2,880
- 10 0l &H 154 0] 2F 60,000 x4H x12& 2,880
- 5 0] &H10& 0] 8F 50,000& x5H x12& 3,000
O+ 176,868
Oa=<¢ 8,954
-SRI 8,954
52U <2 3,639,500& x4 . 1%*x5H x12& 8,954
OJHEAE L= 22,432
- EsY 12,720
- B X 40,0003 128 x12& 5,760
- JIEFIVS 20,000& x25H x12& 6,000
PiRS = 80,000& x1H +x12& 960
- XMHESHHI B xS 3,712
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